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1) –8z2 = 3z – 5

Sum of the roots =

Product of the roots =

2) 9u2 = 27u

Sum of the roots =

Product of the roots =

3) 4y2 – 6y + 12 = 0

Sum of the roots =

Product of the roots =

4) –14w = 13 – 7w2

Sum of the roots =

Product of the roots =

5) 20 = 10b – b2

Sum of the roots =

Product of the roots =

6) c2 = 1 – c

Sum of the roots =

Product of the roots =

7) 11 = 6t2

Sum of the roots =

Product of the roots =

8) –4r – 2r2 + 16 = 0

Sum of the roots =

Product of the roots =

S3

Sum and Product of the Roots

Find the sum and product of the roots of each quadratic equation.

Preview

Become a member to unlock 
unrestricted access to both printable 

and online worksheets.

www.tutoringhour.com


